aining blank pages.

42+8

1. On completing your answers, compulsorily draw diagonal cross lines on the rem
2. Any revealing of identification, appeal to evaluator and /or equations written eg,

Important Note :

50, will be treated as malpractice.

USN

Time: 3 hrs.
1 a. Briefly explain (10 Marks)
b. Explain about Quantftatlve prmmples of computer design. (06 Marks)
c. Explain the trends in co@t\of computer. (04 Marks)
2 a. Explain dynamic branch prefdlc\tlon and branch predmm ;buffers (08 Marks)
b. Explain in detail : data depgnderices and Hazards Wlth r xamples. (08 Marks)
c. Explain the technique to ehm'nate the stall for\the hazards in DSUB AND and OR
instruction with diagrams. > (04 Marks)
3 a. Explain Tomasulo’s algorithm. Exﬁ ain“the ﬁifferences in fields and registers used in tis
application with and without speculation. & (10 Marks)
b. Explain Branch target buffers and their Station with diagrams. (06 Marks)
c. Discuss the pros and cons of ¢
Fallacy : processors with lower CE
Fallacy: processors with faster chc:k’ (04 Marks)
4 a. What are the expectations of 1déal processor for ILP? I:M };am the expectations. Discuss the
realizable processors for, ILP : (10 Marks)
b. Discuss the optimizations fbr cache performance to make ; ole system faster. (10 Marks)
) %
5 a. Discussthe RAID S‘Vﬂte;ms and the recovery processes with dlagra (10 Marks)
b. Explain Pmssonxs“‘distrlbutlon for a random variable from errors and f ‘Q\gres (10 Marks)
6 a. Explain Gioba\ code scheduling in detail with a code fragment as examp ¢ (10 Marks)
b. Explal Hardware support to preserve exception behavior. A (10 Marks)
7 a A drrectory based cache coherence protocol requires overcoming. The prob}cms}wrelated to
sngopmg protocol without use of Broadcast. Discuss. ~~(10 Marks)
b. ‘D" scuss 'the advantages of different communication mechanisms.

o ow

«;;Di,scuss the following :
Virtual processing in opetron

Translation look aside buffer
Return address predictors
Loop unrolling exploit ILP. (20 Marks)
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